Prepared by GC Solicitation No.:E		A Contract No.: C-13-CD-043-RA SAN ANTONIO WATER SYSTEM P. O. BOX 2449 SAN ANTONIO, TEXAS 78298-2449			iors, LLC 973 78719		Rehab, LLC p 410 X 78222	
PROPOSAL: TIME & DATE:		2013 Annual Repair and M	ON OF BIDS  Sanitary Sewer Main Point  fanhole Adjustments Contract Package 6  121 (O & M) and 13-1402 (CIP) and 13-1403 (CIP)	Austin Constructors, LLC 7907 S FM 973 Austin, Texas 78719		Construction & Rehab, LLC 3355 SE Loop 410 San Antonio, TX 78222		
		3:00 P.M. September 25, 2013			<		PM C	
DITIE.		Unit of	, 2013					
Item No.	Estimate Qty	Issue	Description	Unit Price		Unit Price		Unit Price
103.1	70	LF	Remove Concrete Curb	\$2.00	\$140.00	\$5.00	\$350.00	\$0.60
103.3 200	100 25	SY CY	Remove Concrete Sidewalks and Driveways Flexible Base (Complete in place)	\$4.00 \$50.00	\$400.00 \$1,250.00	\$9.00 \$50.00	\$900.00 \$1,250.00	\$2.00 \$35.00
203	25	GAL	Tack Coat	\$20.00	\$500.00	\$36.00	\$900.00	\$6.00
205.4	175	SY	Hot Mix Asphalt Concrete Type "D", Two (2) Inch Thickness	\$20.00	\$3,500.00	\$40.00	\$7,000.00	\$125.00
208	525	CY	Salvage, Haul, Stockpile Asphalt Concrete Pavement	\$5.00	\$2,625.00	\$41.00	\$21,525.00	\$10.00
500.1	40	LF	Concrete Curbing	\$10.00	\$400.00	\$13.00	\$520.00	\$40.00
500.3	25	LF	Concrete Gutter	\$12.00	\$300.00	\$22.00	\$550.00	\$40.00
502.1	45	SY	Concrete Sidewalks	\$36.00	\$1,620.00	\$45.00	\$2,025.00	\$72.00
503.1	45	SY	Concrete Driveways	\$54.00	\$2,430.00	\$70.00	\$3,150.00	\$96.00
503.2	45	SY	Commercial Driveways	\$68.00	\$3,060.00	\$80.00	\$3,600.00	\$102.00
508	90	LF	Relocate Fence	\$10.00	\$900.00	\$20.00	\$1,800.00	\$20.00
511.3.1	40	SY	Cutting and replacing pavements (10" ATB & 3" HMAC)	\$70.00	\$2,800.00	\$75.00	\$3,000.00	\$206.00
511.3.2	40	SY	Cutting and replacing pavements (6" ATB & 2" HMAC)	\$60.00	\$2,400.00	\$64.00	\$2,560.00	\$162.00
515	75	CY	Top Soil	\$28.00	\$2,100.00	\$28.00	\$2,100.00	\$20.00
516.1	25	SY	Bermuda Sodding	\$5.00	\$125.00	\$14.00	\$350.00	\$20.00
516.2	25	SY	St. Augustine Sodding	\$5.00	\$125.00	\$14.00	\$350.00	\$20.00
530	26	EA	Barricades, Signs and Traffic Handling	\$300.00	\$7,800.00	\$2,500.00	\$65,000.00	\$720.00
540.9	100	LF	Temporary Sediment Control Fence	\$3.00	\$300.00	\$4.00	\$400.00	\$2.00
550	1,650	LF	Trench Excavation Safety Protection	\$2.00	\$3,300.00	\$1.50	\$2,475.00	\$4.00
805.1	40	HR	Police Officer	\$40.00	\$1,600.00	\$40.00	\$1,600.00	\$48.00
851.0.0	40	EA	Bolt Hole Restoration	\$40.00	\$1,600.00	\$200.00	\$8,000.00	\$10.00
851.0.1	20	EA	Manhole Adjustment	\$800.00	\$16,000.00	\$650.00	\$13,000.00	\$1,200.00
851.0.2	25	VF	Extra Height Manhole Adjustment	\$200.00	\$5,000.00	\$100.00	\$2,500.00	\$630.00
851.1.1	25	EA	Replace Manhole Ring and Cover Size On Size	\$1,800.00	\$45,000.00	\$950.00	\$23,750.00	\$1,200.00
851.1.2	9	EA	Replace Manhole Ring and Cover with 30" Hinged Ring and Cover	\$1,800.00	\$16,200.00	\$1,300.00	\$11,700.00	\$2,000.00
851.2	120	VF	Manhole Coating	\$280.00	\$33,600.00	\$400.00	\$48,000.00	\$350.00
852.1	2	EA	Install Manholes	\$7,000.00	\$14,000.00	\$6,500.00	\$13,000.00	\$9,000.00
852.2	2	EA	Replace Manholes	\$8,000.00	\$16,000.00	\$6,500.00	\$13,000.00	\$10,200.00
852.3	29	VF	Extra Depth Manholes	\$300.00	\$8,700.00	\$350.00	\$10,150.00	\$600.00
954	950	LE	Sanitary Sayon Latarala	\$20.00	¢25 500 00	\$40.00	624,000,00	¢91.00
854	850	LF	Sanitary Sewer Laterals	\$30.00	\$25,500.00	\$40.00	\$34,000.00	\$81.00
854.1	75	EA	One Way Sanitary Sewer Clean-out	\$280.00	\$21,000.00	\$500.00	\$37,500.00	\$300.00
864.1	8	EA	Bypass Pumping (8" diameter)	\$800.00	\$6,400.00	\$3,000.00	\$24,000.00	\$400.00
864.2	5	EA	Bypass Pumping (10" diameter)	\$1,200.00	\$6,000.00	\$3,000.00	\$15,000.00	\$600.00
864.3	1	EA	Bypass Pumping (12" diameter)	\$1,500.00	\$1,500.00	\$3,000.00	\$3,000.00	\$1,000.00
864.4	1	EA	Bypass Pumping (15" diameter)	\$2,000.00	\$2,000.00	\$3,000.00	\$3,000.00	\$1,700.00
864.5	1	EA	Bypass Pumping (18" diameter)	\$2,500.00	\$2,500.00	\$3,000.00	\$3,000.00	\$2,700.00
864.6 864.7	1	EA EA	Bypass Pumping (21" diameter) Bypass Pumping (24" diameter)	\$2,500.00 \$2,500.00	\$2,500.00 \$2,500.00	\$3,000.00 \$3,000.00	\$3,000.00 \$3,000.00	\$3,400.00 \$4,300.00
1103.1	15	EA EA	Open Cut Point Repairs for 8" or 10" Pipe Sizes, (0'-10' depth)	\$2,500.00	\$2,500.00	\$3,000.00	\$3,000.00	\$4,300.00
1103.2	11	EA	Open Cut Point Repairs for 8" or 10" Pipe Sizes, (10'-16' depth)	\$4,200.00	\$46,200.00	\$3,500.00	\$38,500.00	\$8,300.00
1103.3 1103.4	8 12	EA EA	Open Cut Point Repairs for 8" or 10" Pipe Sizes, (>16" depth) Open Cut Point Repairs for 12" or 15" Pipe Sizes, (0'-10' depth)	\$4,000.00 \$4,000.00	\$32,000.00 \$48,000.00	\$3,500.00 \$3,500.00	\$28,000.00 \$42,000.00	\$12,800.00 \$5,400.00

P. S. T. PROPOSAL: 20		Contract No.: C-13-CD-043-RA  SAN ANTONIO WATER SYSTEM P. O. BOX 2449 SAN ANTONIO, TEXAS 78298-2449  TABULATION OF BIDS  2013 Annual Sanitary Sewer Main Point Repair and Manhole Adjustments Contract Package 6  Job No. 13-0121 (O & M) and 13-1402 (CIP) and 13-1403 (CIP)  3:00 P.M.		Austin Constructors, LLC 7907 S FM 973 Austin, Texas 78719		PM Construction & Rehab, LLC 3355 SE Loop 410 San Antonio, TX 78222		National Power Rodding Corp.
DATE: September 25, 2013								
		Unit of						
Item No.	Estimate Qty	Issue	Description	Unit Price		Unit Price		Unit Price
1103.5	4	EA	Open Cut Point Repairs for 12" or 15" Pipe Sizes, (10'-16' depth)	\$4,500.00	\$18,000.00	\$3,500.00	\$14,000.00	\$8,800.00
1103.6	2	EA	Open Cut Point Repairs for 12" or 15" Pipe Sizes, (>16' depth)	\$5,500.00	\$11,000.00	\$4,000.00	\$8,000.00	\$13,500.00
1103.7	2	EA	Open Cut Point Repairs for 18" or 21" Pipe Sizes, (0'-10' depth)	\$4,500.00	\$9,000.00	\$4,000.00	\$8,000.00	\$7,200.00
1103.8	2	EA	Open Cut Point Repairs for 18" or 21" Pipe Sizes, (10'-16' depth)	\$5,000.00	\$10,000.00	\$4,500.00	\$9,000.00	\$10,200.00
1103.9	2	EA	Open Cut Point Repairs for 18" or 21" Pipe Sizes, (>16' depth)	\$5,500.00	\$11,000.00	\$5,500.00	\$11,000.00	\$14,800.00
1103.10	2	EA	Open Cut Point Repairs for 24" Pipe Size, (0'-10' depth)	\$5,000.00	\$10,000.00	\$4,000.00	\$8,000.00	\$9,400.00
1103.11	2	EA	Open Cut Point Repairs for 24" Pipe Size, (10'-16' depth)	\$5,000.00	\$10,000.00	\$4,600.00	\$9,200.00	\$13,000.00
1103.12	2	EA	Open Cut Point Repairs for 24" Pipe Size,( >16' depth)	\$6,000.00	\$12,000.00	\$6,500.00	\$13,000.00	\$17,000.00
1103.13	200	LF	Extra Length Point Repair, 8"- 10" pipe diameter, all depths	\$80.00	\$16,000.00	\$90.00	\$18,000.00	\$98.00
1103.14	200	LF	Extra Length Point Repair, 12"-18" pipe diameter, all depths	\$90.00	\$18,000.00	\$110.00	\$22,000.00	\$103.00
1103.15	10	LF	Extra Length Point Repair, 21"-24" pipe diameter, all depths	\$120.00	\$1,200.00	\$150.00	\$1,500.00	\$152.00
1103.16	4	EA	Protruding Tap Removal	\$2,500.00	\$10,000.00	\$500.00	\$2,000.00	\$500.00
1103.17	4	EA	CIPP Point Repair for 8" Pipe Size all depths	\$7,250.00	\$29,000.00	\$5,600.00	\$22,400.00	\$2,000.00
1103.18	2	EA	CIPP Point Repair for 10" Pipe Size all depths	\$7,500.00	\$15,000.00	\$5,800.00	\$11,600.00	\$2,500.00
1103.19	2	EA	CIPP Point Repair for 12" Pipe Size all depths	\$7,750.00	\$15,500.00	\$6,000.00	\$12,000.00	\$3,000.00
1103.20	1	EA	CIPP Point Repair for 15" Pipe Size all depths	\$8,250.00	\$8,250.00	\$6,300.00	\$6,300.00	\$3,200.00
1103.21	1	EA EA	CIPP Point Repair for 18" Pipe Size, All depths	\$8,500.00	\$8,500.00	\$6,800.00	\$6,800.00	\$4,000.00
1103.22 1103.23	1	EA EA	CIPP Point Repair for 21" Pipe Size, All depths	\$8,750.00 \$9,250.00	\$8,750.00 \$9,250.00	\$7,400.00 \$8,500.00	\$7,400.00 \$8,500.00	\$5,000.00 \$5,500.00
1103.23	4	EA EA	CIPP Point Repair for 24" Pipe Size, All depths  Open Cut Lateral Reconnection, all sizes and depths	\$9,250.00 \$1,500.00	\$9,250.00	\$8,500.00	\$8,500.00	\$5,500.00 \$14,400.00
	1							
1109.2	5	EA	Remote Service Reconnection, Internal Cut	\$1,500.00	\$7,500.00	\$250.00	\$1,250.00	\$300.00
4438	60	CY	Flowable Backfill (TxDOT Spec)	\$110.00	\$6,600.00	\$120.00	\$7,200.00	\$133.00
			Trace Production		\$700 425 00		\$761 055 00	
Total Bid Amount					\$700,425.00		\$761,955.00	
CALENDAR DAYS TO COMPLETE					730		730	

[1]

Prepared by GC Solicitation No.:			.: C-13-CD-043-RA ONIO WATER SYSTEM		Pronto Sandblasting & Coating & Oil Filed Services Co, Inc. 9456 South Presa San Antonio, TX 78223		
		P. O. BOX		724			
			NIO, TEXAS 78298-2449 ION OF BIDS	9810 FM 969 Austin, Texas 78724			
ROPOSAL:			l Sanitary Sewer Main Point	0 FN, Tex			
KOI OBIIE.			Manhole Adjustments Contract Package 6	981 stin,			
		•	0121 (O & M) and 13-1402 (CIP) and 13-1403 (CIP)	San File 9			
ΓIME &		3:00 P.M.			onto		
DATE:	•	September 2	5, 2013		Pı		
		Unit of					
tem No.	Estimate Qty	Issue	Description		Unit Price		
103.1	70	LF	Remove Concrete Curb	\$42.00	\$30.00	\$2,100.	
103.3	100	SY	Remove Concrete Sidewalks and Driveways	\$200.00	\$50.00	\$5,000.0	
200	25 25	CY	Flexible Base (Complete in place) Tack Coat	\$875.00	\$100.00	\$2,500.	
205.4	175	GAL SY	Hot Mix Asphalt Concrete Type "D", Two (2) Inch Thickness	\$150.00 \$21,875.00	\$40.00 \$140.00	\$1,000.0 \$24,500.0	
		~ -	T J	7=2,010100	42.000	+= 1,+ 1 1	
208	525	CY	Salvage, Haul, Stockpile Asphalt Concrete Pavement	\$5,250.00	\$270.00	\$141,750.	
500.1	40	LF	Concrete Curbing	\$1,600.00	\$30.00	\$1,200.0	
500.3	25	LF	Concrete Gutter	\$1,000.00	\$50.00	\$1,250.0	
502.1	45	SY	Concrete Sidewalks	\$3,240.00	\$75.00	\$3,375.	
503.1	45	SY	Concrete Driveways	\$4,320.00	\$90.00	\$4,050.	
503.2	45	SY	Commercial Driveways	\$4,590.00	\$100.00	\$4,500.	
508	90	LF	Relocate Fence	\$1,800.00	\$10.00	\$900.	
511.3.1	40	SY	Cutting and replacing pavements (10" ATB & 3" HMAC)	\$8,240.00	\$140.00	\$5,600.	
511.3.2	40	SY	Cutting and replacing pavements (6" ATB & 2" HMAC)	\$6,480.00	\$100.00	\$4,000.	
515	75	CY	Top Soil	\$1,500.00	\$40.00	\$3,000.	
516.1	25	SY	Bermuda Sodding	\$500.00	\$25.00	\$625.	
516.2	25	SY	St. Augustine Sodding	\$500.00	\$20.00	\$500.	
530	26	EA	Barricades, Signs and Traffic Handling	\$18,720.00	\$2,500.00	\$65,000.	
540.9	100	LF	Temporary Sediment Control Fence	\$200.00	\$10.00	\$1,000.	
550	1,650	LF	Trench Excavation Safety Protection	\$6,600.00	\$2.00	\$3,300.	
805.1	40	HR	Police Officer	\$1,920.00	\$40.00	\$1,600.	
851.0.0	40	EA	Bolt Hole Restoration	\$400.00	\$150.00	\$6,000.	
851.0.1	20	EA	Manhole Adjustment	\$24,000.00	\$500.00	\$10,000.	
851.0.2	25	VF	Extra Height Manhole Adjustment	\$15,750.00	\$200.00	\$5,000.	
851.1.1	25	EA	Replace Manhole Ring and Cover Size On Size	\$30,000.00	\$1,500.00	\$37,500.	
851.1.2	9	EA	Replace Manhole Ring and Cover with 30" Hinged Ring and Cover	\$18,000.00	\$3,200.00	\$28,800.	
851.2	120	VF	Manhole Coating	\$42,000.00	\$400.00	\$48,000.	
852.1	2	EA	Install Manholes	\$18,000.00	\$6,800.00	\$13,600.	
852.2	2	EA	Replace Manholes	\$20,400.00	\$7,500.00	\$15,000.	
852.3	29	VF	Extra Depth Manholes	\$17,400.00	\$350.00	\$10,150.	
				,		, , , ,	
854	850	LF	Sanitary Sewer Laterals	\$68,850.00	\$120.00	\$102,000	
854.1	75	EA	One Way Sanitary Sewer Clean-out	\$22,500.00	\$350.00	\$26,250.	
864.1	8	EA	Bypass Pumping (8" diameter)	\$3,200.00	\$20,000.00	\$160,000.	
864.2	5	EA	Bypass Pumping (10" diameter)	\$3,000.00	\$23,000.00	\$115,000.	
864.3	1	EA	Bypass Pumping (12" diameter)	\$1,000.00	\$25,000.00	\$25,000.	
864.4	1	EA	Bypass Pumping (15" diameter)	\$1,700.00	\$30,000.00	\$30,000.	
864.5	1	EA	Bypass Pumping (18" diameter)	\$2,700.00	\$40,000.00	\$40,000.	
864.6	1	EA	Bypass Pumping (1" diameter)	\$3,400.00	\$45,000.00	\$45,000.	
864.7	1	EA	Bypass Pumping (24" diameter)	\$4,300.00	\$50,000.00	\$50,000.	
1103.1 1103.2	15	EA EA	Open Cut Point Repairs for 8" or 10" Pipe Sizes, (0'-10' depth)  Open Cut Point Repairs for 8" or 10" Pipe Sizes, (10'-16' depth)	\$70,500.00 \$91,300.00	\$6,000.00 \$9,000.00	\$90,000. \$99,000.	
1103.2	8	EA EA	Open Cut Point Repairs for 8" or 10" Pipe Sizes, (10-16 depth)  Open Cut Point Repairs for 8" or 10" Pipe Sizes, (>16" depth)	\$91,300.00	\$9,000.00	\$99,000. \$104,000.	
1103.4	12	EA	Open Cut Point Repairs for 12" or 15" Pipe Sizes, (0'-10' depth)	\$64,800.00	\$7,000.00	\$84,000	

Prepared by GC					ij.		
Solicitation No.:I	B-13-CD-064-RA	Contract No.	: C-13-CD-043-RA		0 %		
		SAN ANTO	NIO WATER SYSTEM	•	50	. છ	
		P. O. BOX 2	449	· 42	atin	o, inc. esa 78223	
		SAN ANTO	NIO, TEXAS 78298-2449	69	ပိ ,	), 7 7 7 7 7 7 7 7 7 7 7 7 7 7 7 7 7 7 7	
		TABULATI	ON OF BIDS	M 9 Kas	3	THE	
PROPOSAL:		2013 Annual	Sanitary Sewer Main Point	9810 FM 969 Ž Austin, Texas 78724	iti.	ed Services Co, in 9456 South Presa Antonio, TX 782	
I KOI OSAL.			•	etin,	blas	56 Into	
		•	Ianhole Adjustments Contract Package 6	Aus	Pronto Sandblasting & Coating & Oil Filed Services Co, Inc. 9456 South Presa San Antonio, TX 78223		
		Job No. 13-0	121 (O & M) and 13-1402 (CIP) and 13-1403 (CIP)	•	S t	Sa	
TIME &		3:00 P.M.			out		
DATE:		September 25	5, 2013		亞		
		Unit of					
Item No.	Estimate Otv	Issue	Description		Unit Price		
1103.5	4	EA	Open Cut Point Repairs for 12" or 15" Pipe Sizes, (10'-16' depth)	\$35,200.00	\$10,000.00	\$40,000.00	
1103.6	2	EA	Open Cut Point Repairs for 12" or 15" Pipe Sizes, (>16' depth)	\$27,000.00	\$14,000.00	\$28,000.00	
1103.7	2	EA	Open Cut Point Repairs for 18" or 21" Pipe Sizes, (0'-10' depth)	\$14,400.00	\$8,000.00	\$16,000.00	
1103.8	2	EA	Open Cut Point Repairs for 18" or 21" Pipe Sizes, (10'-16' depth)	\$20,400.00	\$11,000.00	\$22,000.00	
1103.9	2	EA	Open Cut Point Repairs for 18" or 21" Pipe Sizes, (>16' depth)	\$29,600.00	\$16,000.00	\$32,000.00	
1103.10	2	EA	Open Cut Point Repairs for 24" Pipe Size, (0'-10' depth)	\$18,800.00	\$13,000.00	\$26,000.00	
1103.11	2	EA	Open Cut Point Repairs for 24" Pipe Size, (10'-16' depth)	\$26,000.00	\$18,000.00	\$36,000.00	
1103.12	2	EA	Open Cut Point Repairs for 24" Pipe Size,(>16' depth)	\$34,000.00	\$22,000.00	\$44,000.00	
1103.13	200	LF	Extra Length Point Repair, 8"- 10" pipe diameter, all depths	\$19,600.00	\$50.00	\$10,000.00	
1103.14	200	LF	Extra Length Point Repair, 12"-18" pipe diameter, all depths	\$20,600.00	\$90.00	\$18,000.00	
1103.15	10	LF	Extra Length Point Repair, 21"-24" pipe diameter, all depths	\$1,520.00	\$140.00	\$1,400.00	
1103.16	4	EA	Protruding Tap Removal	\$2,000.00	\$1,000.00	\$4,000.00	
1103.17	4	EA	CIPP Point Repair for 8" Pipe Size all depths	\$8,000.00	\$6,000.00	\$24,000.00	
1103.18	2	EA	CIPP Point Repair for 10" Pipe Size all depths	\$5,000.00	\$6,500.00	\$13,000.00	
1103.19	2	EA	CIPP Point Repair for 12" Pipe Size all depths	\$6,000.00	\$7,000.00	\$14,000.00	
1103.20	1	EA	CIPP Point Repair for 15" Pipe Size all depths	\$3,200.00	\$7,500.00	\$7,500.00	
1103.21	1	EA	CIPP Point Repair for 18" Pipe Size, All depths	\$4,000.00	\$8,500.00	\$8,500.00	
1103.22	1	EA	CIPP Point Repair for 21" Pipe Size, All depths	\$5,000.00	\$9,000.00	\$9,000.00	
1103.23	1	EA	CIPP Point Repair for 24" Pipe Size, All depths	\$5,500.00	\$9,500.00	\$9,500.00	
1109.1	4	EA	Open Cut Lateral Reconnection, all sizes and depths	\$57,600.00	\$1,000.00	\$4,000.00	
1109.2	5	EA	Remote Service Reconnection, Internal Cut	\$1,500.00	\$1,000.00	\$5,000.00	
4438	60	CY	Flowable Backfill (TxDOT Spec)	\$7,980.00	\$150.00	\$9,000.00	
			Total Bid Amount	\$1,068,102.00		\$1,801,950.00	
CALENDAR DA	AYS TO COMPLE	TF	730		730		
CALLINDAR DE	115 TO COMILE	111	750	<u> </u>	130		

[1]